
R O B U S



CERTIFICATONr. 50 100 1185 - Rev.010
Si attesta che / This is to certify that

IL SISTEMA QUALITÀ DITHE QUALITY SYSTEM OF

MOTIVE S.r.l.
SEDE LEGALE E OPERATIVA:REGISTERED OFFICE AND OPERATIONAL SITE:VIA LE GHISELLE 20IT - 25014 CASTENEDOLO (BS)

È CONFORME AI REQUISITI DELLA NORMA
HAS BEEN FOUND TO COMPLY WITH THE REQUIREMENTS OFUNI EN ISO 9001:2015QUESTO CERTIFICATO È VALIDO PER IL SEGUENTE CAMPO DI APPLICAZIONE
THIS CERTIFICATE IS VALID FOR THE FOLLOWING SCOPEProgettazione e fabbricazione di motori elettrici, riduttori

meccanici e inverter (IAF 18, 19)Design and manufacture of electrical motors, mechanical gearboxes 
and variable speed drives (IAF 18, 19)

Per l’Organismo di CertificazioneFor the Certification BodyTÜV Italia S.r.l.
Validità /Validity

Dal / From: 2019-03-19
Al / To: 2022-03-02

Data emissione / Issuing DateAndrea CosciaDirettore Divisione Business Assurance
2019-03-19PRIMA CERTIFICAZIONE / FIRST CERTIFICATION: 2001-07-20

DATA DI SCADENZA DELL’ULTIMO CICLO DI CERTIFICAZIONE: 2019-03-02
EXPIRATION DATE OF THE LAST CERTIFICATION CYCLE: 2019-03-02

“LA VALIDITÀ DEL PRESENTE CERTIFICATO È SUBORDINATA A SORVEGLIANZA PERIODICA A 12 MESI E AL RIESAME COMPLETO DEL SISTEMA DI 

GESTIONE AZIENDALE CON PERIODICITÀ TRIENNALE”

“THE VALIDITY OF THE PRESENT CERTIFICATE DEPENDS ON THE ANNUAL SURVEILLANCE EVERY 12 MONTHS AND ON THE COMPLETE REVIEW OF 

COMPANY'S MANAGEMENT SYSTEM AFTER THREE-YEARS”

VISIT AND KNOW MOTIVE THANKS TO THE MOVIE ON WWW.MOTIVE.IT



4-5  robus-A 

1-2  robus 25-60 

 robus25-60-2 
6-7   
 

 robusA-2 - robusA-3  
10-11   
 

 robus25-60-3 
8-9   
 

12  
13  

14  
15   Configurator

16  
17  robus-A 

18  25-30 
19  30-35 

20  35-40 
21  40-50 

24  
25  

22  50-60 
23  60 

26-27  

28  



robus

robus-Arobus 25-60 

registered design
2



3

robus

IEC

ZZ

6   2

robus
26               dim.   X2

HrC 35-23 42CrMo4

HrC 2±58

DIN 3962

6

6

3

Please note that the vent plug also 
allows you to reduce the internal 
pressure on seals, and thus incre-
ases the efficiency of the gearbox

The surface is exposed to a bombardment of micro-spheres 
that induces compression and increases further the fatigue 
resistance.

3



robus-A 

Main body of a single piece of 
aluminum, for an optimal compro-
mise between weight, rigidity and 
precision

A removable base, 
with several fixing 
holes, makes ro-
bus-A interchange-
able with most of the 
gearboxes brands

registered design
4



robus-A

IEC

ZZ 6   2

robus-A
26               dim.   X2

HrC 35-23 42CrMo4

2

6

Please note that the vent plug also 
allows you to reduce the internal 
pressure on seals, and thus incre-
ases the efficiency of the gearbox

HrC 2±58

DIN 3962
6

The surface is exposed to a bombardment of micro-spheres 
that induces compression and increases further the fatigue 
resistance.

5



6

48 41

34

37
19

3

24

29
12 13

18
26

32 31

21

39

22

28

16a
11

17

14
10

16b

28

1

30
35

43

5

50

7

20a
2

20b

45

23

6

4940

44

33

4

47

42

46

25

2  robus-2

6



 

		  ROBUS25-2	 ROBUS30-2	 ROBUS35-2	 ROBUS40-2	 ROBUS50-2	 ROBUS60-2

} }

  1 HOU 1 1 1 1 1 1
  2 ISH 1 1 1 1 1 1
  3 OSH 1 1 1 1 1 1
 D25xL50 D30xL60 D35xL70 D40xL80 D50xL100 D60xL120

D30xL60 D35xL70 D40xL80 D50xL100 D60xL120 D70xL140
  4 ICV 1 1 1 1 1 1
  5 TCV 1 1 1 1 1 1
  6 IFL 1 1 1 1 1 1

63B5 71 71 80 90 100/112
71B5 80 80 90 100/112 132
80B5 90 90 100/112 132 160
90B5 100/112 100/112 132 160 180
100/112 200

  7 P1 1 1 1 1 1 1 1 1 1 1 1 1
10 G2 1 1 1 1 1 1 1 1 1 1 1 1
11 P3 3 1 3 1 3 1 3 1 3 1 3 1
12 G3 3 1 3 1 3 1 3 1 3 1 3 1
13 SP 1 1 1 1 1 1
14 SP 1 1 1 1 1 1
16a BEA 7202 1 7302 1 7304 1 7304 1 7306 1 7307 1
16b BEA 7202 1 7203 1 7204 1 7204 1 7306 1 7307 1
17 BEA 6003 1 6004 1 6205 1 6205 1 6207 1 6208 1
18 BEA 6205 1 6206 1 6207 1 6208 1 6210 1 6212 1
19 BEA 6206ZZ 1 6207ZZ 1 6208ZZ 1 6209ZZ 1 6311ZZ 1 6313-zz 1
20a BEA 6210ZZ 1 6212ZZ 1 6215-zz 1
20b BEA 6211ZZ 1 6213ZZ 1 6216-zz 1
20 BEA 6008ZZ 2 6009ZZ 2 6009ZZ 2 6009ZZ 2
21 COV D25 1 D30 1 D35 1 D35 1 D42 1 D52 1
22 COV D35 1 D42 1 D52 1 D52 1 D72 1 D80 1
23 OS 40x55x8 1 45x60x9 1 45x60x9 1 55x80x10 1 65x90x12 1 80x105x13 1

45x60x9 1
24 OS 62x35x11 1 40x72x10 1 50x80x12 1 55x85x12 1 65x120x15 1 72x140x18 1
25 SNR 1 1 1 1 1 1
26 SNR 1 1 1 1 1 1
27 SNR 2 2 2 2 2 1
28 SNR 2 2 2 2 2 2
29 SNR 1 1 1 1 1 1
30 BPL 1 1 1 1 1 1
31 FPL 6 6 6 6 6 6
32 LPL 1 1 1 1 1 1
33 WSH 4 4 4 4 4 4
34 KEY 1 1 1 1 1 1
35 KEY 1 1 1 1 1 1
37 KEY 1 1 1 1 1 1
39 KEY 1 1 1 1 1 1
40 KEY 1 1 1 1 1 1
41 OFL 1 1 1 1 1 1

200 200 250 300 350 450
160 160 200 250 300 350

42 1 1 1 1 1 1
FSW SW SW SW SW SW SW
FBF BF BF BF BF BF BF

43 SCR 6 6 6 6 6 6
44 SCR 6 6 6 6 6 6
45 SCR 4 4 4 4 4 4
46 SCR 4 4 4 4 4 4
47 SCR 4 4 4 4 4 4
48 SCR 6 6 6 6 6 6
49 GK49 1 1 1 1 1 1
50 GK50 1 1 1 1 1 1

2  ROBUS-2

7



48 41

19

3
24

29
12 13

18
26

32 31

21

39

22

11
17

14

10

1

30 35

43

5

50

7

2

45

23

6

4940

44

33
4

47

42

46

15

38
8 15

27

9

34

37

28

16a

16b

28

20a

20b

25

3  robus-3

8



		  ROBUS25-3	 ROBUS30-3	 ROBUS35-3	 ROBUS40-3	 ROBUS50-3	 ROBUS60-3	

}

3  ROBUS-3

  1 HOU 1 1 1 1 1 1
  2 ISH 1 1 1 1 1 1
  3 OSH 1 1 1 1 1 1
 D25xL50 D30xL60 D35xL70 D40xL80 D50xL100 D60xL120

D30xL60 D35xL70 D40xL80 D50xL100 D60xL120 D70xL140
  4 ICV 1 1 1 1 1 1
  5 TCV 1 1 1 1 1 1
  6 IFL 1 1 1 1 1 1

63B5 71 71 80 90 100/112
71B5 80 80 90 100/112 132
80B5 90 90 100/112 132 160
90B5 100/112 100/112 132 160 180
100/112 200

  7 P1 1 1 1 1 1 1 1 1 1 1 1 1
  8 G1 1 1 1 1 1 1 1 1 1 1 1 1
  9 P2 2 1 2 1 2 1 2 1 2 1 2 1
10 G2 2 1 2 1 2 1 2 1 2 1 2 1
11 P3 3 1 3 1 3 1 3 1 3 1 3 1
12 G3 3 1 3 1 3 1 3 1 3 1 3 1
13 SP D30.5xL24 1 D35.5xL32.5 1 D40.5xL36.6 1  1 D55.5xL45 1 D65.5xL50 1
14 SP D20xL22 1 D20.5xL23.5 1 D21.5xL24.5 1  1 D35xL32 1 D40.5xL38 1
15inp BEA 6002ZZ 1 6003ZZ 1 6203ZZ 1 6204ZZ 1 6206ZZ 1 6207ZZ 1
15out BEA 6002 1 6003 1 6203 1 6204 1 6206 1 6207 1
16a BEA 6202 1 6302 1 6304 1 6304 1 6306 1 6307 1
16b BEA 6202ZZ 1 6203ZZ 1 6204ZZ 1 6204ZZ 1 6306ZZ 1 6307ZZ 1
17 BEA 6003 1 6004 1 6205 1 6205 1 6207 1 6208 1
18 BEA 6205 1 6206 1 6207 1 6208 1 6210 1 6212 1
19 BEA 6206 1 6207ZZ 1 6208ZZ 1 6209ZZ 1 6311ZZ 1 6313ZZ 1
20a BEA 6210ZZ 1 6212ZZ 1 6215ZZ 1
20b BEA 6211ZZ 1 6213ZZ 1 6216ZZ 1
20 BEA 6008ZZ 2 6009ZZ 2 6009ZZ 2 6009ZZ 2
21 COV D25 1 D30 1 D35 1 D35 1 D42 1 D52 1
22 COV D35 1 D42 1 D52 1 D52 1 D72 1 D80 1
23 OS 40x55x8 1 45x60x9 1 45x60x9 1 55x80x10 1 65x90x12 1 80x105x13 1

45x60x9
24 OS 35x62x11 1 40x72x10 1 50x80x12 1 55x85x12 1 65x120x15 1 72x140x18 1
25 SNR 1 1 1 1 1 1
26 SNR 1 1 1 1 1 1
27 SNR 2 D35 2 2 2 2 1
28 SNR 2 2 2 2 2 2
29 SNR 1 1 1 1 1 1
30 BPL 1 1 1 1 1 1
31 FPL 6 6 6 6 6 6
32 LPL 1 1 1 1 1 1
33 WSH
34 KEY 1 1 1 1 1 1
35 KEY 1 1 1 1 1 1
37 KEY 1 1 1 1 1 1
38 KEY 1 1 1 1 1 1
39 KEY 1 1 1 1 1 1
40 KEY 1 1 1 1 1 1
41 OFL 1 1 1 1 1 1

200 200 250 300 350 450
160 160 200 250 300 350

42 1 1 1 1 1 1
FSW SW SW SW SW SW SW
FBF BF BF BF BF BF BF

43 SCR 6 6 6 6 6 6
44 SCR 6 6 6 6 6 6
45 SCR 4 4 4 4 4 4
46 SCR 4 4 4 4 4 4
47 SCR 4 4 4 4 4 4
48 SCR 6 6 6 6 6 6
49 GK49 1 1 1 1 1 1
50 GK50 1 1 1 1 1 1 9



48 41

24
29

19 13
34

31

1 30
15

9
38 8 27

15

36
23

45
6

6
2532

44a
44b4

47

31

16
1011

39 14

16

42

46b

20a 20b 2

3
37

12 26 18

27

48 41

24
29

19 13
34

31

1 30

36

23

45
6

6
2532

44a
44b4

47

31

16
1011

39 14

16

42

46b
46a

46a

20a 20b 2

3
37

12 26 18

robus-A2-2 AND robus-A2-3 

10



ROBUS-A2-2 and ROBUS-A2-3 

list of components Robus A2-2 (2 reduction stages)
1 HOU Housing 1
2 ISH-P1 Input shaft with integrated pinion 1
3 OSH Output shaft 1

D20x40
D25x50

4 ICV Input cover 1
6 IFL Input flange 1

63B14
71B14
80B14

10 G1 Gear 1 1
11 P3 Pinion 3 1
12 G3 Gear 3 1
13 SNR circlip 1
14 SNR circlip 1
16 BEA Bearing, 6202ZZ 2
18 BEA Bearing, NA4903 1
19 BEA Bearing, 6206ZZ 1
20a BEA Bearing, 6203ZZ 1
20b BEA Bearing, 6005ZZ 1
23 OS Oil seal, 17X25X 1
24 OS Oil seal, 30X42X10 1
25 SNR circlip 1
26 SNR circlip 1
29 SNR circlip 1
30 BPL Breather plug 1/4” 1
31 FPL Filler plug 1/4” 2
32 LPL Level plug 1/4” 1
34 KEY key 1
36 OR o-ring 1
37 KEY key 1
39 KEY key 1
41 OFL Output flange 1

120
140

42 FT Base 1

additional components Robus A2-3 (3 reduction stages)
8 G1 Gear 1 1
9 P2 Pinion 2 1
8 G2 Gear 2 1

15 BEA Bearing, 6202ZZ 2
27 SNR External Circlip (G1) 1
38 KEY Key 1
39 KEY Key 1

11



RB60-3
70
132 B5
...

RB603070FSW135

                     4      1
 RB40 =robus 40
 RB50 =robus 50
 RBA2 =robus A2
   

robus 60

3  

           i:70   

   sW 

        b5 132

        1  2
    2        2
    3         3

     3      3
 020 =i:20
 120 =i:120
  

6 D2 to indicate whether the output shaft is the 
biggest option. For example, robus 25 may have an 
output shaft with diameter 25 or 30mm. If you ask 
the 30mm one, write D2 at the end of the code

        3   5
           1-IEL 72 
    
 714 = 71b14
 805 = 80b5
 905 = 90b5 
 125 = 100-112b5 
 135 = 132b5 

       3   4 
    
 FSW    sW 
 FBF    bF
   
 120 =56b5 KP=120
 140  =63b5 KP=140  
 160 =71b5 KP=160  
 200 =90b5 KP=200/80
 250 =112b5 KP=250/100
 300 =132b5 KP=300
 350 =KP=350 160/180
 450 =200 KP=450  

 UNV  

12



ROBUS ISO
B3 B6 B7 B8 V5 V6

A2 0,35 0,55 0,65 0,6 0,6 0,55

VG
220

-25
+80°C

Mobil 
Glygoyle 

220

Shell 
Omala 

S4 220

25 0,3 0,75 0,95 0,95 1,3 0,85

30 0,7 1,5 1,5 1,5 2,6 1,6

35 1,1 2,2 2,2 2 3,9 3,6

40 1,2 2,5 3,4 3,4 4,75 3,8

50 2,3 6,3 6,5 6,5 8,80 6,7

60 4,6 11,3 11,7 11,7 15,30 11,7

			              ROBUS

.B3

lt

ROBUS

ZZ

6

				    Elbow vent plug

13

	 B3	 B8	 B6

	 V5	 V6	 B7

B3	 B8	 B6

V5	 V6	 B7



c	

b	

a	

2

 2

ROBUS

ROBUS

14



Configure what you need by this 
automatic consultant, and get CAD 
files and data sheets

Motive configurator allows you to 
shape Motive products, combine them 
as you want, and finally to download 
2D/3D CAD drawings, and a PDF 
datasheet.

Search by performance
If you’re not sure about the best 
products combination that you should 
select for your purpose, you can input 
your wishes, like final torque, final 
speed, use, etc, and the configurator 
will act like a consultant.
It will give you a list of applicable 
product configurations; you can then 
download a PDF data sheet featuring 
performance data and dimensional 
drawings for each configuration, as 
well as 2D and 3D drawings.

Search by product
To be used if you already know the 
product configuration that you want, 
and you just want to get quicker a PDF 
data sheet featuring performance 
data and dimensional drawings for 2D 
and 3D drawings.

free access without login
http://www.motive.it/configuratore.php

Configurator



At the same time, a one-piece body like 
that of robus-A is more rigid and reliable 
than a body composed of several parts

The surface is exposed to a bombardment 
o f  m icro -spheres  that  i nduces 
compression and increases further the 
fatigue resistance.

16



63 71 80 90 100/112 132 160 180 200

A2
165Nm

130 134,18 0,13 0,18 63A-4 1400 1,34 10,4 112 11,3 3
120 119,00 0,18 0,25 63B-4 1400 1,05 11,8 137 13,9 3

110 109,43 0,13 0,18 63A-4 1400 1,66 12,8 91 9,2 3
0,18 0,25 63B-4 1400 1,20 12,8 126 12,7 3

100 99,54 0,13 0,18 63A-4 1400 1,78 14,1 83 8,4 3
0,18 0,25 63B-4 1400 1,29 14,1 115 11,6 3

90 92,50 0,18 0,25 63B-4 1400 1,62 15,1 107 10,8 3
0,25 0,35 71A-4 1400 1,17 15,1 148 15,0 3

85 85,05 0,18 0,25 63B-4 1400 1,69 16,5 98 9,9 3
0,25 0,35 71A-4 1400 1,22 16,5 136 13,8 3

80 81,22 0,18 0,25 63B-4 1400 1,95 17,2 94 9,5 3
0,25 0,35 71A-4 1400 1,41 17,2 130 13,1 3

75 75,68 0,18 0,25 63B-4 1400 1,95 18,5 87 8,8 3
0,25 0,35 71A-4 1400 1,41 18,5 121 12,2 3

70 69,59 0,25 0,35 71A-4 1400 1,53 20,1 112 11,3 3
0,37 0,5 71B-4 1400 1,04 20,1 165 16,7 3

65 64,21 0,25 0,35 71A-4 1400 1,74 21,8 103 10,4 3
0,37 0,5 71B-4 1400 1,18 21,8 152 15,4 3

60 59,43 0,25 0,35 71A-4 1400 1,81 23,6 95 9,6 3
0,37 0,5 71B-4 1400 1,23 23,6 141 14,2 3

55 55,15 0,25 0,35 71A-4 1400 1,89 25,4 88 8,9 3
0,37 0,5 71B-4 1400 1,27 25,4 131 13,2 3

50 50,21 0,25 0,35 71A-4 1400 1,94 27,9 80 8,1 3
0,37 0,5 71B-4 1400 1,31 27,9 119 12,0 3

45 46,05 0,37 0,5 71B-4 1400 1,49 30,4 109 11,0 3
40 39,33 0,37 0,5 71B-4 1400 1,80 35,6 93 9,4 3
35 35,26 0,37 0,5 71B-4 1400 1,65 39,7 84 8,4 3
30 30,12 0,55 0,75 80A-4 1400 1,55 46,5 106 10,7 3

25 24,70 0,37 0,5 71B-4 1400 1,49 56,7 59 5,9 2
0,55 0,75 80A-4 1400 1,00 56,7 89 9,0 2

20 19,86 0,55 0,75 80A-4 1400 1,66 70,5 72 7,2 2
0,75 1 80B-4 1400 1,22 70,5 98 9,8 2

15 15,02 0,55 0,75 80A-4 1400 1,68 93,2 54 5,5 2
0,75 1 80B-4 1400 1,23 93,2 74 7,4 2

13 12,75 0,55 0,75 80A-4 1400 1,68 109,8 46 4,6 2
0,75 1 80B-4 1400 1,23 109,8 63 6,3 2

10 9,97 0,55 0,75 80A-4 1400 1,68 140,4 36 3,6 2
0,75 1 80B-4 1400 1,23 140,4 49 4,9 2

7,5 7,58 0,55 0,75 80A-4 1400 1,68 184,7 27 2,8 2
0,75 1 80B-4 1400 1,23 184,7 37 3,8 2

5 5,03 0,55 0,75 80A-4 1400 1,68 278,3 18 1,8 2
0,75 1 80B-4 1400 1,23 278,3 25 2,5 2

	 Robus	
	

	 kW	 Hp	 motor	 n1 [rpm]	
fs

	 n2 [rpm]	 M2[Nm]	 M2[Kgm]		
B14 IEC 72-1

ROBUS-A 

17



63 71 80 90 100/112 132 160 180 200

25
350Nm

120 119,93
0,13 0,18 71B-8 651 1,37 5,8 200 20,2 3
0,18 0,25 71A-6 910 1,31 7,9 204 20,6 3
0,25 0,35 71A-4 1400 1,32 11,7 192 19,4 3

110 106,18
0,13 0,18 71B-8 651 1,49 6,1 190 19,2 3
0,18 0,25 71A-6 910 1,42 8,6 189 19,0 3
0,37 0,5 71B-4 1400 1,01 13,2 252 25,4 3

100 99,12 0,37 0,5 71B-4 1400 1,26 14,1 235 23,7 3
90 91,47 0,55 0,75 80A-4 1400 1,20 15,3 323 32,5 3
80 80,69 0,55 0,75 80A-4 1400 1,34 17,4 285 28,7 3

70 69,57 0,55 0,75 80A-4 1400 1,50 20,1 245 24,8 3
0,75 1 80B-4 1400 1,10 20,1 335 33,8 3

60 59,94 0,75 1 80B-4 1400 1,26 23,4 288 29,1 3

55 57,20 0,75 1 80B-4 1400 1,46 24,5 275 27,8 3
1,1 1,5 80C-4 1400 1,00 24,5 403 40,7 3

50 49,28 0,75 1 80B-4 1400 1,64 28,4 237 23,9 3
1,1 1,5 90S-4 1400 1,12 28,4 348 35,1 3

45 46,07 0,75 1 80B-4 1400 1,68 30,4 222 22,4 3
1,1 1,5 90S-4 1400 1,15 30,4 325 32,8 3

40 39,27 0,75 1 80B-4 1400 1,94 35,7 189 19,1 3
1,1 1,5 90S-4 1400 1,32 35,7 277 27,9 3

35 32,51 1,1 1,5 90S-4 1400 1,68 43,1 229 23,1 3
1,5 2 90L-4 1410 1,23 43,4 310 31,3 3

30 30,18 1,1 1,5 90S-4 1400 1,68 46,4 213 21,5 3
1,5 2 90L-4 1410 1,23 46,7 288 29,1 3

25 24,81 1,5 2 90L-4 1410 1,41 56,8 237 23,9 3

20 20,99
1,5 2 90L-4 1410 2,03 67,2 200 20,2 3
1,9 2,6 90LB-4 1415 1,60 67,4 253 25,5 3
2,2 3 100LA-4 1420 1,38 67,7 298 30,1 3

25 25,42
0,75 1 80B-4 1400 1,94 57,1 120 12,1 2
1,1 1,5 80C-4 1400 1,32 57,1 176 17,8 2
1,1 1,5 90S-4 1400 1,32 57,1 176 17,8 2

20 19,95 1,5 2 90L-4 1410 1,41 70,7 195 19,6 2

15 15,75 1,9 2,6 90LB-4 1415 1,46 89,8 194 19,6 2
2,2 3 100LA-4 1420 1,26 90,2 224 22,6 2

13 12,68 1,9 2,6 90LB-4 1415 1,67 111,6 156 15,7 2
2,2 3 100LA-4 1420 1,44 112,0 180 18,2 2

10 10,42 1,9 2,6 90LB-4 1415 1,74 135,8 128 12,9 2
2,2 3 100LA-4 1420 1,50 136,3 148 14,9 2

7 6,84
1,9 2,6 90LB-4 1415 2,37 206,9 84 8,5 2
2,2 3 100LA-4 1420 2,04 207,6 97 9,8 2
3 4 100LB-4 1420 1,50 207,6 132 13,4 2

5 4,88
1,9 2,6 90LB-4 1415 2,44 290,0 60 6,1 2
2,2 3 100LA-4 1420 2,10 291,0 69 7,0 2
3 4 100LB-4 1420 1,54 291,0 95 9,5 2

4 4,00
1,9 2,6 90LB-4 1415 2,88 353,8 49 5,0 2
2,2 3 100LA-4 1420 2,49 355,0 57 5,7 2
3 4 100LB-4 1420 1,83 355,0 77 7,8 2

30
450Nm

120 120,20

0,25 0,35 80B-8 690 1,31 5,7 391 39,4 3
0,37 0,5 80A-6 930 1,25 7,7 429 43,3 3
0,37 0,5 71B-4 1400 1,79 11,6 285 28,8 3
0,55 0,75 80A-4 1400 1,20 11,6 424 42,8 3

110 106,30

0,25 0,35 80B-8 690 1,31 6,5 346 34,9 3
0,37 0,5 80A-6 930 1,25 8,7 380 38,3 3
0,37 0,5 71B-4 1400 1,79 13,2 252 25,4 3
0,55 0,75 80A-4 1400 1,20 13,2 375 37,8 3

100 102,47 0,37 0,5 71B-4 1400 1,79 13,7 243 24,5 3
0,55 0,75 80A-4 1400 1,20 13,7 361 36,5 3

30-25 

	 Robus	
	

	 kW	 Hp	 motor	 n1 [rpm]	
fs

	 n2 [rpm]	 M2[Nm]	 M2[Kgm]		

18



63 71 80 90 100/112 132 160 180 200

30
450Nm

90 91,24 0,55 0,75 80A-4 1400 1,44 15,3 322 32,5 3
0,75 1 80B-4 1400 1,06 15,3 439 44,3 3

80 84,26 0,55 0,75 80A-4 1400 1,56 16,6 297 30,0 3
0,75 1 80B-4 1400 1,15 16,6 405 40,9 3

70 72,29 0,75 1 80B-4 1400 1,41 19,4 348 35,1 3

60 60,16 0,75 1 80B-4 1400 1,94 23,3 289 29,2 3
1,1 1,5 90S-4 1400 1,32 23,3 424 42,8 3

55 55,56 1,1 1,5 90S-4 1400 1,44 25,2 392 39,5 3
1,5 2 90L-4 1410 1,06 25,4 531 53,5 3

50 49,45 1,1 1,5 90S-4 1400 1,20 28,3 349 35,2 3

45 47,66 1,1 1,5 90S-4 1400 1,68 29,4 336 33,9 3
1,5 2 90L-4 1410 1,23 29,6 455 45,9 3

40 39,26 1,5 2 90L-4 1410 1,59 35,9 375 37,8 3
1,9 2,6 90LB-4 1415 1,25 36,0 473 47,7 3

35 35,46 1,5 2 90L-4 1410 1,68 39,8 339 34,2 3
1,9 2,6 90LB-4 1415 1,32 39,9 427 43,1 3

30 30,44 1,5 2 90L-4 1410 1,85 46,3 291 29,3 3
1,9 2,6 90LB-4 1415 1,46 46,5 367 37,0 3

25 25,38
1,9 2,6 90LB-4 1415 1,74 55,8 306 30,9 3
2,2 3 100LA-4 1420 1,50 55,9 353 35,6 3
3 4 100LB-4 1420 1,10 55,9 481 48,6 3

20 22,30
2,2 3 100LA-4 1420 1,98 63,7 310 31,3 3
3 4 100LB-4 1420 1,46 63,7 423 42,7 3
4 5,5 112M-4 1420 1,09 63,7 564 56,9 3

23 23,02 1,5 2 90L-4 1410 1,50 61,3 225 22,7 2
1,9 2,6 90LB-4 1415 1,18 61,5 283 28,6 2

20 20,36 1,5 2 90L-4 1410 1,59 69,3 199 20,0 2
1,9 2,6 90LB-4 1415 1,25 69,5 251 25,3 2

18 18,37
1,5 2 90L-4 1410 1,76 76,8 179 18,1 2
1,9 2,6 90LB-4 1415 1,39 77,0 226 22,8 2
2,2 3 100LA-4 1420 1,20 77,3 261 26,3 2

15 14,27
2,2 3 100LA-4 1420 1,80 99,5 203 20,4 2
3 4 100LB-4 1420 1,32 99,5 276 27,9 2
4 5,5 112M-4 1420 0,99 99,5 369 37,2 2

10 9,96 4 5,5 112M-4 1420 1,65 142,6 257 26,0 2
5 6,8 112MB-4 1450 1,32 145,6 315 31,8 2

7 6,79 5 6,8 112MB-4 1450 1,77 213,5 215 21,7 2
5 5,66 5 6,8 112MB-4 1450 1,85 256,2 179 18,1 2
4 4,05 5 6,8 112MB-4 1450 3,33 358,0 128 12,9 2

35
700Nm

120 123,20

0,25 0,35 80B-8 690 1,46 5,6 401 40,4 3
0,37 0,5 80A-6 930 1,40 7,5 440 44,4 3
0,37 0,5 71B-4 1400 2,00 11,4 292 29,5 3
0,55 0,75 80A-4 1400 1,35 11,4 434 43,8 3
0,75 1 80B-4 1400 0,99 11,4 592 59,8 3

110 105,60

0,25 0,35 80B-8 690 1,70 6,5 343 34,7 3
0,37 0,5 80A-6 930 1,62 8,8 377 38,1 3
0,55 0,75 80A-4 1400 1,56 13,3 372 37,6 3
0,75 1 80B-4 1400 1,15 13,3 508 51,2 3

100 98,82 0,75 1 80B-4 1400 1,41 14,2 475 47,9 3
1,1 1,5 80C-4 1390 0,96 14,1 702 70,8 3

90 84,70 0,75 1 80B-4 1400 1,76 16,5 407 41,1 3
1,1 1,5 90S-4 1400 1,20 16,5 597 60,3 3

80 79,85
0,75 1 80B-4 1400 1,94 17,5 384 38,7 3
1,1 1,5 90S-4 1400 1,32 17,5 563 56,8 3
1,5 2 90L-4 1410 0,97 17,7 763 76,9 3

70 68,44 1,1 1,5 90S-4 1400 1,44 20,5 483 48,7 3
1,5 2 90L-4 1410 1,06 20,6 654 65,9 3

35-30 

	 Robus	
	

	 kW	 Hp	 motor	 n1 [rpm]	
fs

	 n2 [rpm]	 M2[Nm]	 M2[Kgm]		

19



63 71 80 90 100/112 132 160 180 200

35
700Nm

60 59,29
1,5 2 90L-4 1410 1,59 23,8 566 57,1 3
1,9 2,6 90LB-4 1415 1,25 23,9 715 72,1 3
2,2 3 100LA-4 1420 1,08 24,0 825 83,2 3

55 55,61 1,5 2 90L-4 1410 1,32 25,4 531 53,6 3
1,9 2,6 90LB-4 1415 1,04 25,4 670 67,6 3

50 50,82 1,9 2,6 90LB-4 1415 1,46 27,8 613 61,8 3
2,2 3 100LA-4 1420 1,26 27,9 707 71,3 3

45 46,13 1,5 2 90L-4 1410 1,50 30,6 441 44,4 3
1,9 2,6 90LB-4 1415 1,18 30,7 556 56,1 3

40 41,29 2,2 3 100LA-4 1420 1,50 34,4 574 57,9 3
3 4 100LB-4 1420 1,10 34,4 783 79,0 3

35 34,25 2,2 3 100LA-4 1420 1,74 41,5 476 48,1 3
3 4 100LB-4 1420 1,28 41,5 650 65,5 3

30 30,17 3 4 100LB-4 1420 1,54 47,1 572 57,7 3
4 5,5 112M-4 1420 1,16 47,1 763 77,0 3

25 25,51 4 5,5 112M-4 1420 1,42 55,7 645 65,1 3
5 6,8 112MB-4 1450 1,14 56,8 790 79,7 3

20 19,71 4 5,5 112M-4 1420 1,82 72,0 498 50,3 3
5 6,8 112MB-4 1450 1,46 73,6 610 61,6 3

15 16,34 5 6,8 112MB-4 1450 1,64 88,7 506 51,0 3
25 26,40 1,9 2,6 90LB-4 1415 2,99 53,6 325 32,8 2

20 18,79
2,2 3 100LA-4 1420 1,92 75,6 267 26,9 2
3 4 100LB-4 1420 1,41 75,6 364 36,7 2
4 5,5 112M-4 1420 1,06 75,6 485 49,0 2

15 15,07
3 4 100LB-4 1420 1,98 94,2 292 29,4 2
4 5,5 112M-4 1420 1,49 94,2 389 39,3 2
5 6,8 112MB-4 1450 1,19 96,2 476 48,1 2

13 12,53 4 5,5 112M-4 1420 1,69 113,3 324 32,6 2
5 6,8 112MB-4 1450 1,35 115,7 396 40,0 2

10 10,05 5 6,8 112MB-4 1450 1,69 144,3 318 32,1 2
8 7,46 5 6,8 112MB-4 1450 2,04 194,4 236 23,8 2
5 5,23 5 6,8 112MB-4 1450 2,20 277,2 165 16,7 2
4 3,96 5 6,8 112MB-4 1450 2,61 366,2 125 12,6 2

40
1100Nm

120 116,13

0,55 0,75 90L-8 700 1,27 6,0 819 82,6 3
0,75 1 90S-6 915 1,21 7,9 855 86,2 3
0,75 1 80B-4 1400 1,76 12,1 558 56,3 3
1,1 1,5 90S-4 1400 1,20 12,1 819 82,6 3

110 105,99

0,55 0,75 90L-8 700 1,27 6,6 748 75,4 3
0,75 1 90S-6 915 1,21 8,6 780 78,7 3
0,75 1 80B-4 1400 1,76 13,2 510 51,4 3
1,1 1,5 90S-4 1400 1,20 13,2 748 75,4 3

100 101,24

0,55 0,75 90L-8 700 1,27 6,9 714 72,0 3
0,75 1 90S-6 915 1,21 9,0 745 75,2 3
0,75 1 80B-4 1400 1,76 13,8 487 49,1 3
1,1 1,5 90S-4 1400 1,20 13,8 714 72,0 3

90 92,40 1,1 1,5 90S-4 1400 1,44 15,2 652 65,8 3
1,5 2 90L-4 1410 1,06 15,3 882 89,0 3

80 79,23 1,1 1,5 90S-4 1400 1,56 17,7 559 56,4 3
1,5 2 90L-4 1410 1,15 17,8 757 76,3 3

70 70,75 1,5 2 90L-4 1410 1,50 19,9 676 68,2 3
1,9 2,6 90LB-4 1415 1,18 20,0 853 86,0 3

60 63,05 1,9 2,6 90LB-4 1415 1,39 22,4 760 76,7 3
2,2 3 100LA-4 1420 1,20 22,5 877 88,5 3

55 52,92 2,2 3 100LA-4 1420 1,56 26,8 736 74,3 3
3 4 100LB-4 1420 1,15 26,8 1004 101,3 3

50 50,25 2,2 3 100LA-4 1420 1,68 28,3 699 70,5 3
3 4 100LB-4 1420 1,23 28,3 953 96,2 3

	 Robus	
	

	 kW	 Hp	 motor	 n1 [rpm]	
fs

	 n2 [rpm]	 M2[Nm]	 M2[Kgm]		

40-35 

20



63 71 80 90 100/112 132 160 180 200

40
1100Nm

45 44,46 3 4 100LB-4 1420 1,37 31,9 843 85,1 3
4 5,5 112M-4 1420 0,99 31,9 1124 113,4 3

40 40,81 3 4 100LB-4 1420 1,41 34,8 774 78,1 3
4 5,5 112M-4 1420 1,03 34,8 1032 104,1 3

35 33,98 3 4 100LB-4 1420 1,54 41,8 644 65,0 3
4 5,5 112M-4 1420 1,16 41,8 859 86,7 3

30 31,94
3 4 100LB-4 1420 1,68 44,5 606 61,1 3
4 5,5 112M-4 1420 1,26 44,5 808 81,5 3
5 6,8 112MB-4 1450 1,01 45,4 989 99,8 3

25 25,97 4 5,5 112M-4 1420 1,72 54,7 657 66,3 3
5,5 7,5 132S-4 1450 1,25 55,8 884 89,2 3

20 20,33 5,5 7,5 132S-4 1450 1,44 71,3 692 69,8 3
7,5 10 132M-4 1450 1,06 71,3 944 95,2 3

15 14,95 7,5 10 132M-4 1450 1,32 97,0 694 70,0 3
9,2 12,5 132MB-4 1450 1,08 97,0 852 85,9 3

25 24,05 2,2 3 100LA-4 1420 1,80 59,0 342 34,5 2
3 4 100LB-4 1420 1,32 59,0 466 47,0 2

23 23,31
3 4 100LB-4 1420 1,76 60,9 451 45,6 2
4 5,5 112M-4 1420 1,32 60,9 602 60,7 2
5 6,8 112MB-4 1450 1,06 62,2 737 74,3 2

20 21,27 4 5,5 112M-4 1420 1,49 66,8 549 55,4 2
5 6,8 112MB-4 1450 1,19 68,2 672 67,8 2

15 14,83 5 6,8 112MB-4 1450 1,61 97,8 469 47,3 2

13 13,54
5,5 7,5 132S-4 1450 1,73 107,1 471 47,5 2
7,5 10 132M-4 1450 1,27 107,1 642 64,8 2
9,2 12,5 132MB-4 1450 1,04 107,1 788 79,5 2

10 9,96
7,5 10 132M-4 1450 1,53 145,6 472 47,7 2
9,2 12,5 132MB-4 1450 1,25 145,6 579 58,5 2
11 15 132MC-4 1460 1,05 146,6 688 69,4 2

7 6,65
7,5 10 132M-4 1450 1,59 218,0 315 31,8 2
9,2 12,5 132MB-4 1450 1,29 218,0 387 39,0 2
11 15 132MC-4 1460 1,08 219,5 459 46,3 2

5 4,78 9,2 12,5 132MB-4 1450 1,37 303,3 278 28,1 2
11 15 132MC-4 1460 1,14 305,4 330 33,3 2

4 4,03 9,2 12,5 132MB-4 1450 1,56 359,8 234 23,7 2
11 15 132MC-4 1460 1,31 362,3 278 28,1 2

50
2500Nm

120 117,17

1,5 2 112M-8 710 1,33 6,1 2222 224,2 3
2,2 3 112M-6 950 1,27 8,1 2436 245,8 3
2,2 3 100LA-4 1420 1,80 12,1 1630 164,4 3
3 4 100LB-4 1420 1,32 12,1 2222 224,2 3
4 5,5 112M-4 1420 0,99 12,1 2963 298,9 3

110 107,20

1,5 2 112M-8 710 1,33 6,6 2033 205,1 3
2,2 3 112M-6 950 1,27 8,9 2229 224,8 3
2,2 3 100LA-4 1420 1,80 13,2 1491 150,4 3
3 4 100LB-4 1420 1,32 13,2 2033 205,1 3
4 5,5 112M-4 1420 0,99 13,2 2711 273,5 3

100 100,70

1,5 2 112M-8 710 1,33 7,1 1910 192,7 3
2,2 3 112M-6 950 1,27 9,4 2093 211,2 3
2,2 3 100LA-4 1420 1,80 14,1 1401 141,3 3
3 4 100LB-4 1420 1,32 14,1 1910 192,7 3
4 5,5 112M-4 1420 0,99 14,1 2546 256,9 3

90 92,13

1,5 2 112M-8 710 1,55 7,7 1747 176,3 3
2,2 3 112M-6 950 1,48 10,3 1915 193,2 3
3 4 100LB-4 1420 1,54 15,4 1747 176,3 3
4 5,5 112M-4 1420 1,16 15,4 2330 235,1 3

80 80,06 4 5,5 112M-4 1420 1,65 17,7 2025 204,3 3
5 6,8 112MB-4 1450 1,32 18,1 2478 250,0 3

	 Robus	
	

	 kW	 Hp	 motor	 n1 [rpm]	
fs

	 n2 [rpm]	 M2[Nm]	 M2[Kgm]		

50-40 

21



63 71 80 90 100/112 132 160 180 200

50
2500Nm

80 83,01 5,5 7,5 132S-4 1450 1,20 18,1 2726 275,0 3

70 71,34
4 5,5 112M-4 1420 1,65 19,7 1824 184,0 3
5 6,8 112MB-4 1450 1,32 20,1 2233 225,3 3

5,5 7,5 132S-4 1450 1,20 20,1 2456 247,8 3

60 61,99
4 5,5 112M-4 1420 1,82 22,9 1568 158,2 3
5 6,8 112MB-4 1450 1,46 23,4 1919 193,6 3

5,5 7,5 132S-4 1450 1,32 23,4 2111 213,0 3

55 57,74
4 5,5 112M-4 1420 1,72 24,6 1460 147,3 3
5 6,8 112MB-4 1450 1,38 25,1 1787 180,3 3

5,5 7,5 132S-4 1450 1,25 25,1 1966 198,4 3

50 50,35
4 5,5 112M-4 1420 1,75 28,2 1273 128,5 3
5 6,8 112MB-4 1450 1,40 28,8 1559 157,3 3

5,5 7,5 132S-4 1450 1,27 28,8 1714 173,0 3

45 45,12 5,5 7,5 132S-4 1450 1,49 32,1 1536 155,0 3
7,5 10 132M-4 1450 1,09 32,1 2095 211,4 3

40 38,78 5,5 7,5 132S-4 1450 1,54 37,4 1320 133,2 3
7,5 10 132M-4 1450 1,13 37,4 1801 181,7 3

35 34,47
7,5 10 132M-4 1450 1,50 42,1 1601 161,5 3
9,2 12,5 132MB-4 1450 1,22 42,1 1963 198,1 3
11 15 132MC-4 1460 1,02 42,4 2331 235,2 3

30 29,90
7,5 10 132M-4 1450 1,55 48,5 1388 140,1 3
9,2 12,5 132MB-4 1450 1,27 48,5 1703 171,8 3
11 15 132MC-4 1460 1,06 48,8 2022 204,0 3

25 27,50
7,5 10 132M-4 1450 1,53 52,7 1277 128,8 3
9,2 12,5 132MB-4 1450 1,25 52,7 1566 158,0 3
11 15 132MC-4 1460 1,05 53,1 1860 187,7 3

20 21,56 11 15 132MC-4 1460 1,60 67,7 1458 147,1 3

23 22,83 4 5,5 112M-4 1420 1,49 62,2 590 59,5 2
5 6,8 112MB-4 1450 1,19 63,5 722 72,8 2

20 19,83
5,5 7,5 132S-4 1450 1,68 73,1 690 69,6 2
7,5 10 132M-4 1450 1,23 73,1 940 94,9 2
9,2 12,5 132MB-4 1450 1,01 73,1 1153 116,4 2

18 18,15
5,5 7,5 132S-4 1450 1,88 79,9 631 63,7 2
7,5 10 132M-4 1450 1,38 79,9 861 86,8 2
9,2 12,5 132MB-4 1450 1,12 79,9 1056 106,5 2

15 15,29 11 15 160M-4 1460 1,46 95,5 1056 106,6 2
15 20 160L-4 1460 1,07 95,5 1440 145,3 2

10 10,37
15 20 160L-4 1460 1,83 140,8 977 98,5 2

18,5 25 180M-4 1470 1,48 141,8 1196 120,7 2
22 30 180L-4 1470 1,24 141,8 1423 143,6 2

8 8,03 18,5 25 180M-4 1470 1,50 183,1 926 93,5 2
22 30 180L-4 1470 1,26 183,1 1102 111,2 2

5 5,02 18,5 25 180M-4 1470 1,70 292,8 579 58,4 2
22 30 180L-4 1470 1,43 292,8 689 69,5 2

4 4,06 22 30 180L-4 1470 1,73 362,1 557 56,2 2

60
4300Nm

120 115,43

3 4,0 132M-8 720 1,24 6,2 4318 435,6 3
4 5,5 132MA-6 970 1,19 8,4 4273 431,1 3
4 5,5 112M-4 1420 1,65 12,3 2919 294,5 3

5,5 7,5 132S-4 1450 1,20 12,6 3930 396,6 3

110 111,72

3 4,0 132M-8 720 1,24 6,4 4179 421,6 3
4 5,5 132MA-6 970 1,19 8,7 4136 417,3 3
4 5,5 112M-4 1420 1,65 12,7 2825 285,0 3

5,5 7,5 132S-4 1450 1,20 13,0 3804 383,8 3

100 101,79

3 4,0 132M-8 720 1,24 7,1 3807 384,1 3
4 5,5 132MA-6 970 1,19 9,5 3768 380,2 3
4 5,5 112M-4 1420 1,65 14,0 2574 259,7 3

5,5 7,5 132S-4 1450 1,20 14,2 3466 349,7 3

	 ROBUS	
	

	 kW	 Hp	 motor	 n1 [rpm]	
fs

	 n2 [rpm]	 M2[Nm]	 M2[Kgm]		

60-50 

22



63 71 80 90 100/112 132 160 180 200

60
4300Nm

90 89,28 4 5,5 112M-4 1420 1,65 15,9 2258 227,8 3
5,5 7,5 132S-4 1450 1,20 16,2 3040 306,7 3

80 81,51
5,5 7,5 132S-4 1450 1,80 17,8 2775 280,0 3
7,5 10 132M-4 1450 1,32 17,8 3785 381,9 3
9,2 12,5 132MB-4 1450 1,08 17,8 4643 468,4 3

70 69,95
5,5 7,5 132S-4 1450 1,80 20,7 2382 240,3 3
7,5 10 132M-4 1450 1,32 20,7 3248 327,7 3
9,2 12,5 132MB-4 1450 1,08 20,7 3984 402,0 3

60 60,82
5,5 7,5 132S-4 1450 1,80 23,8 2071 208,9 3
7,5 10 132M-4 1450 1,32 23,8 2824 284,9 3
9,2 12,5 132MB-4 1450 1,08 23,8 3464 349,5 3

55 55,42
7,5 10 132M-4 1450 1,76 26,2 2573 259,6 3
9,2 12,5 132MB-4 1450 1,44 26,2 3157 318,5 3
11 15 160M-4 1460 1,20 26,3 3748 378,2 3

50 48,03
9,2 12,5 132MB-4 1450 1,62 30,2 2736 276,0 3
11 15 160M-4 1460 1,36 30,4 3249 327,7 3
15 20 160L-4 1460 1,00 30,4 4430 446,9 3

45 44,72 11 15 160M-4 1460 1,48 32,6 3025 305,2 3
15 20 160L-4 1460 1,08 32,6 4125 416,1 3

40 38,36
11 15 160M-4 1460 1,80 38,1 2594 261,8 3
15 20 160L-4 1460 1,32 38,1 3538 356,9 3

18,5 25 180M-4 1470 1,07 38,3 4334 437,2 3

35 35,72
11 15 160M-4 1460 1,90 40,9 2416 243,7 3
15 20 160L-4 1460 1,39 40,9 3294 332,4 3

18,5 25 180M-4 1470 1,13 41,2 4035 407,2 3

30 28,33 18,5 25 180M-4 1470 1,59 51,9 3201 322,9 3
22 30 180L-4 1470 1,34 51,9 3806 384,0 3

25 24,63 18,5 25 180M-4 1470 1,68 59,7 2783 280,7 3
22 30 180L-4 1470 1,41 59,7 3309 333,9 3

20 19,69 22 30 180L-4 1470 1,98 74,7 2645 266,9 3
30 40 200L-4 1480 1,46 75,2 3659 369,2 3

15 15,32 22 30 180L-4 1470 2,10 96,0 2058 207,7 3
30 40 200L-4 1480 1,54 96,6 2847 287,2 3

23 22,96 5,5 7,5 132S-4 1450 1,54 63,2 798 80,6 2
7,5 10 132M-4 1450 1,13 63,2 1089 109,8 2

20 20,92 5,5 7,5 132S-4 1450 1,71 69,3 727 73,4 2
7,5 10 132M-4 1450 1,25 69,3 992 100,1 2

17 16,75
7,5 10 132M-4 1450 2,12 86,6 794 80,1 2
11 15 160M-4 1460 1,44 87,2 1157 116,7 2
15 20 160L-4 1460 1,06 87,2 1578 159,2 2

15 15,26
11 15 160M-4 1460 1,80 95,7 1054 106,3 2
15 20 160L-4 1460 1,32 95,7 1437 145,0 2

18,5 25 180M-4 1470 1,07 96,3 1761 177,6 2

13 13,38 18,5 25 180M-4 1470 1,54 109,9 1544 155,8 2
22 30 180L-4 1470 1,29 109,9 1836 185,2 2

10 9,74
18,5 25 180M-4 1470 2,47 150,9 1124 113,4 2
22 30 180L-4 1470 2,07 150,9 1336 134,8 2
30 40 200L-4 1480 1,52 152,0 1810 182,6 2

7 7,34
18,5 25 180M-4 1470 2,57 200,3 847 85,4 2
22 30 180L-4 1470 2,16 200,3 1007 101,6 2
30 40 200L-4 1480 1,59 201,6 1364 137,6 2

5 5,42
18,5 25 180M-4 1470 2,65 271,2 625 63,1 2
22 30 180L-4 1470 2,23 271,2 744 75,0 2
30 40 200L-4 1480 1,63 273,1 1007 101,6 2

4 4,00
18,5 25 180M-4 1470 3,51 367,5 462 46,6 2
22 30 180L-4 1470 2,95 367,5 549 55,4 2
30 40 200L-4 1480 2,17 370,0 743 75,0 2

	 Robus	
	

	 kW	 Hp	 motor	 n1 [rpm]	
fs

	 n2 [rpm]	 M2[Nm]	 M2[Kgm]		

60 

23



63 B14  UNV 5,1 5,9 - - - - - - - - - - - -
71 B14 5,2 6,0 - - - - - - - - - - - -
80B14 5,4 6,2 - - - - - - - - - - - -
63/71 B5 - - 12,8 13,4 22,2 23,4 32,0 33,5 - - - - - -
80/90 B5 - - 13,7 14,3 23,4 24,2 32,5 34,2 39,4 41,7 74,0 78,6 - -
100/112 B5 - - 15,4 16,0 24,7 25,7 34,2 35,7 40,9 43,1 75,1 82,9 135,8 141,2
132 B5 - - - - - - - - 47,3 49,6 87,5 92,0 136,9 142,3
160 B5 - - - - - - - - - - 89,9 - 139,3 144,3
180 B5 - - - - - - - - - - - - 139,0 144,4
63 B14  FSW 5,5 6,3 - - - - - - - - - - - -
71 B14 5,6 6,4 - - - - - - - - - - - -
80 B14 5,8 6,6 - - - - - - - - - - - -
63/71 B5 - - 14,7 15,3 25,8 27,0 37,2 38,7 - - - - - -
80/90 B5 - - 15,6 16,2 27,0 27,8 37,7 39,4 45,9 48,2 88,0 92,6 - -
100/112 B5 - - 17,3 17,9 28,3 29,3 39,4 40,9 47,4 49,6 89,1 96,9 164,8 170,2
132 B5 - - - - - - - - 53,8 56,1 101,5 106,0 165,9 171,3
160 B5 - - - - - - - - - - 103,9 - 168,3 173,3
180 B5 - - - - - - - - - - - - 168,0 173,4
63 B14  FBF - - - - - - - - - - - - - -
71B14 - - - - - - - - - - - - - -
80 B14 - - - - - - - - - - - - - -
63/71 B5 - - 15,6 16,2 26,6 27,8 39,5 41,0 - - - - - -
80/90 B5 - - 16,4 17,1 27,8 28,6 40,0 41,7 49,7 52,0 95,7 100,3 - -
100/112 B5 - - 18,1 18,8 29,1 30,1 41,7 43,2 51,2 53,4 96,8 104,6 162,2 167,6
132 B5 - - - - - - - - 57,6 59,9 109,2 113,7 163,3 168,7
160 B5 - - - - - - - - - - 111,6 - 165,7 170,7
180 B5 - - - - - - - - - - - - 165,4 170,8

120 56B5

140 63B5

160 71B5

200 80/90B5

250 100/112B5

300 132B5

350 160/180B5

450 200B5

 

	 =UNV+0,2  			 
	 =UNV+0,25							     
		  =UNV+0,9	 =UNV+0,9					   
		  =UNV+1,7	 =UNV+1,7	 =UNV+1,8				  
				    =UNV+3,8	 =UNV+4,1			 
					     =UNV+7,2	 =UNV+5,8		
						      =UNV+9,8	 =UNV+8,9	
							       =UNV+19,9	

24

			  ROBUSA-2		 ROBUS25		 ROBUS30		 ROBUS35		 ROBUS40		 ROBUS50		 ROBUS60

		  2	 3	 2	 3	 2	 3	 2	 3	 2	 3	 2	 3	 2	 3



ROBUS Nm Mm Pm Sm Dm tm bm L(PAM) B D1 f b1 t1 L (MF)

A2
63 B14 60 75 90 M6 11 12,8 4 204,5

40 16 M6x16 5 18
249,0

71 B14 70 85 105 M7 14 16,3 5 211,5 253,0
80 B14 80 100 120 19 21,8 6 231,5 276,0

25

63 B5 95 115 140 M8 11 12,8 4 273,0

40 19 M6x16 6 21,5 318,571 B5 110 130 160 14 16,3 5
80 B5 130 165 200 M10 19 21,8 6 274,090 B5 M10 24 27,3 8

100/112 B5 180 215 250 M12 28 31,3 8 280,0 324,5

30

71 B5 110 130 160 M8 14 16,3 5 319,0

40 19 M6x16 6 21,5

363,5
80 B5 130 165 200 M10 19 21,8 6 328,0 372,090 B5 M10 24 27,3 8

100/112 B5 180 215 250 13 28 31,3 8 329,0 372,5

35

71 B5 110 130 160 M8 14 16,3 5 357,0

50 24 M8x25 8 27

409,5
80 B5 130 165 200 M10 19 21,8 6 366,0 420,590 B5 M10 24 27,3 8

100/112 B5 180 215 250 13 28 31,3 8 367,0

40

80 B5 130 165 200 M10 19 21,8 6 399,5
40 19 M6x16 6 21,5 443,5 90 B5 M10 24 27,3 8

100/112 B5 180 215 250 M12 28 31,3 8 401,5
132 B5 230 265 300 38 41,3 10 413,5 457,5
80

50 24 M8x25 8 27 453,590
100/112

132 467,5

50

90 B5 130 165 200 M10 24 27,3 8 446,5

40 19 M6x16 6 21,5

494,0100/112 B5 180 215 250 M12 28 31,3 8 450,0
132 B5 230 265 300 38 41,3 12

519,5 563,5160 B5 250 300 350 M16 42 45,3 12
180 B5 48 51,8 14
90 B5

60 28 M10x25.5 8 31

514,0100/112 B5
132 B5

583,5160 B5
180 B5

60

100/112 B5 180 215 250 M12 28 31,3 8

585,5 50 24 M8x25 8 27

638,5
132 B5 230 265 300 38 41,3 12

638,5160 B5 250 300 350 M16
42 45,3 12

180 B5 48 51,8 14
200 B5 300 350 400 55 59,3 16

100/112

60 28 M10x25.5 8 31

648,5
132

648,5160
180
200

PAM MF

MF kit

1

2

3

4

5

PAM

You can download 2D and 3D drawings from www.motive.it

25



SW BF

UNV

ROBUS IEC KP KM KN KS KC KB

25
80/90B5 200 130 165 11 3,5 12

71B5 160 110 130 9 3,5 10

30
80/90B5 200 130 165 11 3,5 12

71B5 160 110 130 9 3,5 10

35
100/112B5 250 180 215 14 4 15

80/90B5 200 130 165 11 4 12

40
132B5 300 230 265 14 4 21

100/112B5 250 180 215 14 4 19

50
160/180B5 350 250 300 18 5 21

132B5 300 230 265 14 4 19

60
225B5 450 350 400 18 5 25

160/180B5 350 250 300 18 5 21

	 D	 E	 F	 DF	 DH	

	25 (k6)	 50	 8	 28	 M10x20L

	30 (k6)	 60	 8	 33	 M10x20L

	30 (k6)	 60	 8	 33	 M10x20L

	35 (k6)	 70	 10	 38	 M10x20L

	35 (k6)	 70	 10	 38	 M12x24L

	40 (k6)	 80	 12	 43	 M16x32

	40 (k6)	 80	 12	 43	 M16x32

	50 (k6)	 100	14	53,5	M16x32

	50 (k6)	 100	14	53,5	M16x32

	60 (m6)	120	18	 64	 M20x40

	60 (m6)	120	18	 64	 M20x40

	70 (m6)	140	20	74,5	M20x40

	 X	 X2

	 11	 52,5
	

	 13,5	 66
	

	
17	 72

	

	

	
16	 80

	
	 18	 103
	

	 20	 120
	

		  B	B A	 A		  AB	O	  H	 H2	 C	 P	 K1	 K2	 K4	 K5	 Z1	 Z2	 Z3	 Z4	 Z5	 Z6

	SW	 130	 171,5		  110		  182	 9	 90	 193,6	 25	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
BF	 107,5	 173,8		  130		  180,5	 9	 100	 203,5	 18	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
UNV	 90,6	 -	 A1= 108		 A2= 145,2	 170	 M8	 73,5	 180	 54,5	 M6	 68	 80	 6,5	 9,5	 45	 44	 95	 53	 16,5	 128
SW	 165	 203		  135		  230	 14	 115	 238,6	 31,6	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
BF	 130	 213,5		  160		  231,5	 14	 120	 243,5	 19,6	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
UNV	 115,8	 -	 A1= 138		 A2= 185,6	 215	 M12	 94	 215	 64	 M8	 80	 94	 6,5	 10	 56	 55	 116	 54	 20	 155
SW	 195	 238		  150		  260	 14	 130	 264	 30	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
BF	 149,5	 246,8		  180		  269	 14	 140	 274,5	 19,5	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
UNV	 131	 -	 A1= 156		  A2= 210	 243	 M12	 106	 235	 74	 M10	 90	 110	 7	 13	 63	 57	 135	 58	 20	 168
SW	 205	 256		  170		  292	 18	 140	 287	 38	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
BF	 156	 266		  225		  290	 18	 155	 302	 28	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
UNV	 141	 -	 A1= 168		  A2= 226	 262	 M16	 114	 262	 81,5	 M12	 95	 125	 10,5	 16	 69	 66	 143	 70	 25	 190
SW	 260	 327,7		  215		  366	 18	 180	 357	 39,5	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
BF	 180	 336		  250		  372,5	 18	 195	 372	 24,5	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
UNV	 181,3	 -	 A1= 216		 A2= 290,6	 336	 M16	 148	 313	 91,5	 M14	 132	 155	 11,5	 16	 91	 83,5	170	 94	 30	 250
SW	 310	 393		  250		  430	 22	 225	 428	 40	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
BF	 165	 394		  300		  437,5	 22	 217	 421	 25	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -	 -
UNV	 217,6	 -	 A1= 259,2		A2= 348,7	 405	 M16	 176	 381	 103	 M14	 154	 180	 14	 18	 105	 105	 185	 120	 39	 295

26



ROBUS Nm Mm Pm Sm Dm tm bm L

A2

63 B14 60 75 90 M6 11 12,8 4 212,5

71 B14 70 85 105
M7

14 16,3 5 212,5

80 B14 80 100 120 19 21,8 6 227,0

ROBUS D E F DF DH

A2
20 (k6) 40 6 23 M5x12,5

25 (k6) 50 8 28 M10x20L

ROBUS IEC KP KM KN KS KC KB

A2
56B5 120 80 100 7 3 8

63B5 140 95 115 10 3 9

PAM

27



28

1 0

2 1 
3 2 
1 20

2 21 
3 22 

[1] VOLUNTARY TYPE EXAMINATION CERTIFICATE

ATTESTATO VOLONTARIO DI ESAME DEL TIPO

[2] NON ELECTRICAL EQUIPMENT Intended for use in Potentially Explosive Atmospheres - Directive 2014/34/EU-ATEX Statement of

conformity+Annex VIII

APPARECCHIO NON ELETTRICO Inteso per l'uso in Atmosfera Potenzialmente Esplosiva - Direttiva 2014/34/EU-ATEX Statement of conformity+Annex VIII

[3] VOLUNTARY TYPE EXAMINATION CERTIFICATE, ANNEXED TO RECEIPT OF TECHNICAL FILE n.:

ATTESTATO VOLONTARIO DI ESAME DEL TIPO, ALLEGATO ALLA RICEVUTA DEL FASCICOLO TECNICO n.:

AR18ATEX064

[4] NON ELECTRICAL EQUIPMENT:

APPARECCHIO NON ELETTRICO:

Riduttore / Adaptor:

COASSIALE/IN-LINE HELICAL Serie ROBUS 

PENDOLARE/PARALLEL SHAFT Serie STON 

A VITE SENZA FINE/WORM Serie BOX + PRE-COPPIA/STAGES STADIO 

ORTOGONALE/HELICAL BEVEL Serie ENDURO

[5] MANUFACTURER:

COSTRUTTORE:

Motive srl

[6] ADDRESS:
INDIRIZZO:

Via Le Ghiselle, 20

25014  Castenedolo  (BS) - ITALY

[7] This NON ELECTRICAL EQUIPMENT and any variation is specified in the schedule to this certificate and the documents therein

referred to.
Questo APPARECCHIO NON ELETTRICO e le varianti sono descritte nell'allegato al presente certificato e nei documenti ivi richiamati.

[8] Albarubens srl, Notified Body No. 2632, in accordance with Article 17 of the Directive 2014/34/EU-ATEX of the European Parliament

and of the Council, dated 26 February 2014, certifies that this NON ELECTRICAL EQUIPMENT has been found to comply with the

Essential Health and Safety Requirements relating to the design and construction of products intended for use in potentially

explosive atmospheres given in Annex II to the Directive. 

The examination and test results are recorded in confidential report MOD 7.4.1 - ID: 3129

Albarubens srl, Organismo Notificato n. 2632, in conformità all'art. 17 della Direttiva 2014/34/UE-ATEX del Parlamento Europeo e del Consiglio, datata 26 Febbraio 2014, certifica che questo

APPARECCHIO NON ELETTRICO è conforme ai Requisiti Essenziali di Sicurezza e Salute per il progetto e la fabbricazione di prodotti destinati ad essere utilizzati in atmosfere potenzialmente

esplosive, definiti nell'Allegato II della Direttiva. I risultati dell'esame e dei test sono descritti nel rapporto confidenziale MOD 7.4.1 - ID: 3129

[9] Compliance with the Essential Health and Safety Requirements has been assured by compliance with the technical standards:

La conformità ai Requisiti Essenziali di Sicurezza e Salute è assicurata dalla conformità alle norme tecniche:

EN 13463-1:2009 - EN 13463-5:2011 - EN 1127-1:2011

except in respect of those requirements listed at item 18 of the Schedule.

tranne nel caso dei requisiti elencati al punto 18 dell'Allegato.

[10] If the symbol 'X' is placed after the certificate number, it indicates that the NON ELECTRICAL EQUIPMENT is subject to the Specific

Conditions of Use specified in the next chapter 17.

Il simbolo 'X', se presente dopo il numero di certificato, indica che questo APPARECCHIO NON ELETTRICO è soggetto a Condizioni Speciali per l'Uso, specificate nel seguente punto 17.

[11] This VOLUNTARY TYPE EXAMINATION CERTIFICATE relates only to the design and construction of the specified NON ELECTRICAL

EQUIPMENT. Further requirements of the Directive apply to the manufacturing process and supply of product.

These are not covered by this certificate.

Questo ATTESTATO VOLONTARIO DI ESAME DEL TIPO è relativo soltanto al progetto ed alla costruzione di questo APPARECCHIO NON ELETTRICO.

Ulteriori requisiti di questa Direttiva si applicano al processo di fabbricazione e fornitura di questo prodotto. Questi requisiti non sono oggetto del presente certificato.

[12] The marking of the NON ELECTRICAL EQUIPMENT shall include the following:

Questo APPARECCHIO NON ELETTRICO deve riportare i seguenti contrassegni: Tamb=-20
 +40 °C

II 2G c 
IIB T4 

II 2D c 
IIIB T13

5°C

Saronno (Italy), 30 May 2018

ALBARUBENS srl

Digital signature
The legal representative: ing. Giuseppe Terzaghi

Verify the authenticity of this certificate on the website: https://www.albarubens.it/authentication.php (Password: 3IXC2M)

page 1/2

Albarubens srl - Via G. Ferrari 21/N - 21047 Saronno (VA) - Italy - Reg. VA-286283 - Tax code IT 02767050129 - Paid-up capital €100.000,00

www.albarubens.it - info@albarubens.it - tel: +39 02 96248530 - fax: +39 02 700523656 - Document automatically generated by the Albarubens WebApp rev. 1.74 

II 2G c IIB T4
II 2D c IIIB T135°C

serie robus EX

ARTICLE 1 - GUARANTEE
1.1 Barring written agreements, 
entered into between the parties 
hereto each time, Motive hereby 
guarantees compliance with specific  
agreements.
The guarantee for defects shall be 
restricted to product defects following 
design, materials or manufacturing 
defects leading back to Motive.
The guarantee shall not include: 
* Faults or damages ensuing from 

transport. Faults or damages 
ensuing from installation defects; 
incompetent use of the product, or 
any other unsuitable use.

* Tampering or damages ensuing from 
use by non-authorised staff and/
or use of non-original parts and/or 
spare parts;

* Defects and/or damages ensuing from 
chemical agents and/or atmospheric 
phenomena (e.g. burnt out material, 
etc.); routine maintenance and 
required action or checks;

* Products lacking a plate or having a 
tempered plate. 

1.2 Returns to credit or replace will 
be accepted only in exceptional cases; 
however returns of goods already used 
to credit  or replace won’t be accepted 
in any case.The guarantee shall be 
effective for all Motive products, with a 
term of validity of 12 months, starting 
from the date of shipment.
The guarantee shall be subject to 
specific written request for Motive to 
take action, according to statements, 
as described at the paragraphs herein 
below. By virtue of aforesaid approval, 
and as regards the claim, Motive shall 
be bound at its discretion, and within 
a reasonable time-limit, to alternatively 
take the following actions:
a) To supply the  Buyer with products 
of the same type and quality as those 
having proven defective  and not 
complying with agreements, free ex-
works; in aforesaid case, Motive shall 
have the right  to request, at Buyer’s 
charge, early return of defective 
goods, which shall become Motive’s 
property;
b) To repair, at its charge , the defective 
product or to modify the product which 
does not comply with agreements, 
by performing aforesaid action at its 
facilities; in aforesaid cases, all costs 
regarding product transport shall be 
sustained by the Buyer.

TERMS OF SALE AND GUARANTEE

c) To send spare parts free of charge: 
all costs regarding product transport 
shall be sustained by the Buyer.

1.3. The guarantee herein shall assimilate 
and replace legal  guarantees for defects 
and discrepancies, and shall exclude 
any other eventual Motive liability, 
however caused by supplied products; in 
particular, the Buyer shall have no right 
to submit any further claims.
Motive shall not be liable for the 
enforcement of any further claims, as 
of the date the guarantee’s term of 
validity expires.

ARTICLE 2 - CLAIMS
2.1. Claims, regarding quantity, weight, 
gross weight and colour, or claims 
regarding faults and defects in quality 
or compliance, and which the Buyer 
may discover on goods delivery, shall be 
submitted by a max.7 days of aforesaid 
discovery, under penalty of nullity.

ARTICLE 3 - DELIVERY
3.1. Any liability for damages ensuing 
from total or partial delayed or failed 
delivery, shall be excluded.
3.2. Unless differently communicated 
by written to the Client, the transport 
terms have to be intended ex-works.

ARTICLE 4 - PAYMENT
4.1. Any delayed or irregular payments 
shall entitle Motive to cancel ongoing 
agreement, including agreements which 
do not regard the payments at issue, 
as well as entitling Motive to claim 
damages, if any. 

4.2. The Buyer shall 
be bound to complete 
payment, including 
cases whereby claims 
o r  d i sputes  a re 
underway.

ALL DATA HAVE BEEN WRITTEN AND 
CHECKED WITH THE GREATEST CARE.

WE DO NOT TAKE ANY RESPONSIBILITY 
FOR POSSIBLE ERRORS OR OMISSIONS.

MOTIVE CAN CHANGE THE
CHARACTERISTIC OF THE SOLD ITEMS 
ON HIS FIRM OPINION AND IN EVERY 

MOMENT.

download 
the technical manual 

from www.motive.it

Cat DUST GAS Zone description motive 
gearboxes

A place in which an explosive atmosphere consisting of a mixture with 
air of flammable substances in the form of gas, vapor or mist is present 
continuously or for long periods or frequently.

A place in which an explosive atmosphere consisting of a mixture with air or 
flammable substances in the form of gas, vapor or mist is likely to occur in 
normal operation occasionally.

A place in which an explosive atmosphere consisting of a mixture with air of 
flammable substances in the form of gas, vapor or mist is not likely to occur 
in normal operation but, if it does occur, will persist for a short period only.

A place in which an explosive atmosphere in the form of a cloud of 
combustible dust in air is present continuously, or for long periods or 
frequently.

A place in which an explosive atmosphere in the form of a cloud of 
combustible dust in air is likely to occur in normal operation occasionally.

A place in which an explosive atmosphere in the form of a cloud of 
combustible dust in air is not likely to occur in normal operation but, if it 
does occur, will persist for a short period only.

ATEX is the conventional name of the Directive 14/34/EC 
for the equipment intended for use in potentially explosive 
atmospheres.
It imposes the evaluation of the risk for all the equipment 
operating in such environments.
It classifies several levels of "danger" (zones): to every zone 
it corresponds a different typology of explosive atmosphere, 
according to its composition and to its probability and time 
of appearance.
 
Motive gearboxes series BOX Ex, STADIO Ex, STON Ex, 
ROBUS Ex and ENDURO Ex are certified according to the 
norms EN 13463-1, EN 13463-5, EN 1127-1 for the zones 
1, 21, 2 and 22

28



final test report gearboxclockwise rotation Watt

G
ea

r-m
ot

or
 W

at
t

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

            found 850 936 939 939 946 955 955 952 949 938

            limite max 847 935 949 949 945 945 945 956 963 957

0

200

400

600

800

1000

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

00

200

400

600

800

1000

counterclockwise rotation Watt

G
ea

r-m
ot

or
 W

at
t

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

           found 855 935 927 927 927 927 927 934 949 932

            limite max 857 936 942 948 944 945 941 957 966 966

0

200

400

600

800

1000

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

00

200

400

600

800

1000

oil leakage test by air pressure
test pressure, millibar 1000

test duration, seconds 16
pressure leakage, millibar 0

0

200

400

600

800

1000

1200

test leakage

millibar

rpm n2

1 2 3 4 5 6 7 8 9 10

rpm n2 141,51 138,25 141,51 138,89 139,53 138,89 141,51 138,25 141,51 138,89

119

129

139

149

159

169

179

1 2 3 4 5 6 7 8 9 10

119119

129

139

149

159

169

179

serial nr: 1212R01412
code: RB252010FSW905description: Robus25-2 i:10 baseSW PAM90B5Final assembly by: OttavianoFinal test by: Ottaviano

You can download each motor or 
gearbox final test report from 
www.motive.it, starting from its 
serial number



Motive s.r.l.

Via Le Ghiselle, 20

25014 Castenedolo (BS) - Italy

Tel.: +39.030.2677087 - Fax: +39.030.2677125

web site: www.motive.it

e-mail: motive@motive.it

lo
o

k
s

 g
o
o
d, performs bette

r 

LO
O

K
S

 G
O

O
D
, PERFORMS BETTE

R 

STON SHAFT MOUNTED GEARBOX

RO


B
U

S
 t

e
c

h
n

ic
a

l 
C
AT

A
LO

G
U

E
 a

r
a

 L
ug


 1

4
 RE


V.

0
7

BOX SERIES WORMGEAR UNITS

DELPHI SERIES ASYNCHRONOUS 

THREE-PHASE ELECTRIC MOTORS
VARIABLE SPEED DRIVE NEO-WIFI

LO
O

K
S

 G
O
OD, PERFORMS BETTE

R 

G E N E R A L  C A T A L O G U E

ENDURO  BEVEL  HELICAL GEARBOX




